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General Instruction :

(f) All questions are compulsory.
(if) Use of calculator is not permitted.
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Instruction : (A) Question Nos. 1 to 4 are very short answer type questions,
Each question carries 1 mark.
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Find the order and degree of differential eq ~ —
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Find the magnitude of vector d=2i-7 J=3k.
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Instruction : (B) Question Nos. 5 to 12 are short answer type questions.
Each question carries 2 marks,
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Find the value of 5 _s;
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Differentiate cos (Iog X+ e‘“) with respect to x.
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Find the value of f cos? ¢ dx.
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is continuous at x = i, then find the
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Find the probability that a card drawn from the pack of cards, is
neither an ace nor a king.
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Instruction : (C) Question Nos. 13 to 23 are long answer'type questions.

Q. No. 17, Q. No. 18 and Q. No. 22 have internal choicgi'
Each question carries 4 marks.

MAI_TRACT S



-14

Y-15

A¥i-16

m— 7

{41
W 75% WO N q% Vg 0% W ¥ uw Sern ¥ W W
WA 9@ Sty safe Pe = @ VT 33 ST 1 ]

L
%

1,

Mohan speaks truth in 75% of cases and Sohan speaks teath in 80%

of cases. Find out the probability of that incident, when Mohan 18
truthful and Sohan speaks lie.

(x+4 2x 2x
fegsifte: | 2x  (x+4)  2x | =(rx+d)E-~x)F

227
2x 2x  (x+4
(x+4) 2x 2x
Prove that : 2x (x+4)  2x | =(0Gx+HE-X)
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The perimeter of a rectangle is 100 cm. Find the sides of rectangle
for maximum area.
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Find the equation of tangent at the point (1. 1) to the curve %3 o 2% _ 4
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What is the inverse function of f;
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respectively, then find gofand fo g. Prove that g of £ fog
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50 bolts and 150 nuts are in a bag. Half of bolts and half of nuts
are rusted. If one is taken out randomly from the bag, then find out
probability of it being rusted or bolt.
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If sin [s;in“1 % +cos™! x] ~1, then find the value of x.
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Find the value of [ —; dx
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Instruction : (D) Question Nos. 24 to 29 arc long answer (ype c]m:sli.ons_
Q. No. 25 and Q. No. 29 have internal option. Each
question carries 6 marks.
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Find the area of the ficld enclosed between two curves x2 = Ry and
2 = g¢ with the integral method.
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Find the area of the circle x2 + y? = g2 by the integral method.
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x+y<50, 3x+y<90 R x>0, y=>0
Z=4x +y 1 AYHaq 9F T HifoT | [3+3=6]
Find the maximum value of Z = 4x + y by graphical method of

solving linear programming problems under the following constraints :
x+y <50, 3x+y <90 and x>0, y=>0
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Find the equation of the plane passing throughf thj ing;nsand is
perpendicular (o the planes x +2y—-2~ | and 3x—4yTZ=
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